1A8H FHEH EBEEE (xFFEI—
&= k A1 —Fh Ba— ¢+
BF il 8:15 ~ 9:10 8:15 ~ 9:10
1'7“ LR /J —FEvyvYy—/m 2= NN B X JIBB—/IMNFBLYYIYZR
= HFNEE(223) ZHEZ(TEE|EANNINEZ(E R") WHBEINL)
T o {§i1JBC D4vF—X |
¥ il 9:10 ~ 10:05 9:10 ~ 10:05
) o L+ BEH IS =2 NR—DDHIZNRISTVEIL YAV T R —F | D J
= LA E By NKRKBENACH BHIBFHEF(DMFS) KFEETFIEBER)
T o RA/—=5EYY INFRLYIR]
&3 5 10:05 ~ 11:00 10:05 ~ 11:00
3'7“ LA — 1 B £#E—B — 1 B #HB — 1 B EFE—A — 1 B &
= A — 2 B H—B — 2 K HEB — 2 B B#B—A — 2 B &
T o FEIT=YHR P2z EHRMBC
&3 5 11:00 ~ 11:55 11:00 ~ 11:55
4'7“ LA — 2 B E#E—B — 2 B #HB - 2 B E—A — 2 B &
= A - 1 B H#—B — 1 K #HB - 1 B &#—A — 1 B #
INHE=/AR JIIBRIBB
&3 5 11:55 ~ 12:50 11:55 ~ 12:50
sff LIEE I U B C—FEIzZvw I XY 4 v F — X —thzEHRMBC
= YFAEAE (tnAE) B H B(bhIsU)K B H(Lt#) A B E(hs1E)
T o +HETE=/ R JRILOAUT R
&3 5 12:50 ~ 13:45 12:50 ~ 13:45
6 Vs LBHESVY2—2—X — LNBI=RRH5T|H & £ 8 C—LWMIEFEFEFy X
= #E KX H(EI) FEET(S L)HEBEAXxo-0 FEHMBBE (hzs)
BfiBRising EEBK/ISH AR
&3 5 13:45 ~ 14:40 13:45 ~ 14:40
7ff LFEIJIZYHIRA—WM ¥ 2 =2 N R z2EHFRMBC—RKAEI7A448—X
= #HS H B(Ln@E) b B B (mAeE)NK B H(L M) Bll&Xx (Lt &)
T o DORIZINRGST EADJ
&3 & 14:40 ~ 15:35 14:40 ~ 15:35
. o LENAIZNRY5T — A BRisinglE#CFEFEFXFYX—EBBKIASHEAR
= HEBEL(SH £) FWERAMR ZH)ZEBHBH (v2H) ZHEXR(KEHE)
T o HEVa—4—X HHlEsc
&3 & 15:35 ~ 16:30 15:35 ~ 16:30
o s LfE I U B C—W E 2 =2 N XY 4 v F — X—KEEI7A4%—X
= HE HF OB (hsv) R B(AABINE B B (b&E) Bll&Xx (Lt &)
T o ENTEI=NRRHST EHZFEFEFVX
&3 & 16:30 ~ 17:25 16:30 ~ 17:25
10!7“ LBHEUVY2—44—X —FARABRisinglh & [ S8 C—LBEBKHRFHFTAR
= #E KX H(EIT) HIWENCR EHEBEAX -0 S HEX(ERAE)
T o WMEI=/NR EREEI714—X
B A 17:25 ~ 18:20 17:25 ~ 18:20
11!7“ LI Y — 5 1 fi—NVY — F 2 MY — 5 2 ff—J Yy — 45 1§
= # (&) (&) (% &) (% %)
T o A—108E B—108K%E




1A13H FHIEI

h2EBIABEE (BFC-D-FFRU—Y)

#HE&l@ — b AId— b Ba— k
B 15 10:00 ~ 10:55

; 7 — LB R 2T = N R=pHEV¥a21—48—X
= #HlE X B(bsIE) NMKEHCEE)
T (0] [5%#99ers
B 15 10:55 ~ 11:50 10:55 ~ 11:50

2’7“ — LB B & S C—F E B R U —|H B LYY R—LEHIEFEFFyX
= HEHERD(E R) NHBEEES(HF EHHINEFTEN(HEV) HTEF(F Z2)
T o R4 —X YEI1=yHR
B 15 11:50 ~ 12:45

3 57— LBV a—4—X —h5 # 9 9 ers
= H|EMmEZN (L M) NIl £ BICHE B
T o BIRE=/AR
B 15 12:45 ~ 13:40 12:45 ~ 13:40

4’7“ — LE M BRY ——=—HHEYVsY —XNEHIEEFEFYXR—FETIz=ZVvIR
= HEHEEIA(ER) A B B(hsEIH|/NHLEES(HF EH) WNHBE(LE &)
T o HHlEsc HETLY IR
B 5 13:40 ~ 14:35

5’73 — LI} R 2T = NN R—|5 f 9 9 ers
= HETEF (S &) nm £ RBCHE R
T o HEVLa1—4—X
B 5 14:35 ~ 15:30 14:35 ~ 15:30

6’7“ — L B & S C—WHEID4Y—X\H BT L Y YV RAR—FEIJxz=2vI R
= WM BESE(E#R) MIKSBSHCE2HEIEFTEN (HEv) HiFEZN (L 8)
T o EFEBARY— FHACEFEXVX
B ]

B
= ¥
.




1A138 EHEY HERE/NER (BTAB-E-GFEU—Y)

HE |3 ~ AId— b Ba— k
B 15 9:30 ~ 10:25 9:30 ~ 10:25

1 v LINFBR—R—=YZys9Z2 —F JL B 4 )L J r|lE ] D Nl 3 "
= HIENEEL(BEzH) HFIRFEF K RIE E BW(2284) REFHAHK B)
T o) hEI=/\X +HETS=/\R
B 15 10:25 ~ 11:20 10:25 ~ 11:20

) 7 Ls |t B J r—XK R 9 4 v X[22#ZI=ZNRYTT — FER—/I—FKR—aX
= W OB B (hFa) A BEFLLE F OK(=E R) £ B 58 B (B E)
T o INFBR—IR—YZYHIR EWDJ
B 15 11:20 ~ 12:15 11:20 ~ 12:15

3’7“ L B =2 = N R—FKRAEI7A2—X|7 L 2 4 LI r—+ BHEI=Z/NZX
= #lRILFEENM (B B) EBFRIAGEIMNFD|EINEzLT(B2zH)  FIREFCK R
T o FER—/I\—K—(X DOIHIZINRGST
B 15 12:15 ~ 13:10 12:15 ~ 13:10

. s L [} B —®hFaso-u—or45—%xK R 7 4 v X —4f 2 A LYNK
= LA MEF( 2) FBER—(EEm)H LER(+EEH) X & FEFLz(w
T o MR JIr TILAA)LIr
B 5 13:10 ~ 14:05 13:10 ~ 14:05

5'7“ LB — 2 B HE—A — 3 B HA — 3 B HE—B — 2 K =
= FMILFEEA, ( & B, ) EBHEHEBR)®R F R(=E &) 2 H A &M FD)
T o N ¥8 2 NLYNK
B 5 14:05 ~ 15:00 14:05 ~ 15:00
7 LIINFBER—NR—Y=yHIR — + H B 2 = N\ R|E ] D J — BEAFASO—Y—TFA4—X

6% B — 2 B HA—A — 3 B HEA - 3 B /#—B — 2 B &
T o REmEI7/44—X KRDAVX
B 5 15:00 ~ 15:55

; s Ls | B J r—3E 2 A LYNK
= M LERE+-EE) M R KR(hFaA)
T o BhFRISO—)—TJ7/(4—X
B 5 15:30 ~ 16:25

8’7“ N AlYy — 5 1 fgi—G Y — 4§ 2 i1
= # (#% &) (% £)
T o GY—J1{Z-BY—5 14
¥ ] 15:55 ~ 16:50

0 7 LlG YU — 4F 1 ff—B Y — 5 1 &
= # (#2) (2
T o A)—F14i-GY—5 24




1A148 THEL BRERTR/NERR (BB —F AR

#A&22 — k A1 — b Ba— k
B i 9:00 ~ 10:00 9:00 ~ 10:00

1'7“ — AN e e e el D e e ) e N e e g
= g v — 4 1 £ —D Y — ¥ 1 fHc Uy — ¥ 1 m—F Yy — ¥ 1 &
T o SHA—11H%E SHEB— 11
B i 10:00 ~ 11:00 10:00 ~ 11:00

2'7“ — LE Y — 4% 1 fE—D Y — 4F 1 Kc Yy —F 1 EE—F 1) — 45 1 &
= M Yy — ¥ 1 —L Y — ¥ 1 @K U — 4 1 —_N Y — 5 1 &
T o A—1BE A—18E
B A 11:00 ~ 12:00 11:00 ~ 12:00

3'7“ — L8HA-11BE—_A — 1 B #HB — 1 B F_-_8HB -1 BFE
= #14B8BB-8BEFE—-—A — 2 B & - 2 B & —14B8BA-9BH
T o A—2BE B—28&
B A 12:00 ~ 13:00 12:00 ~ 13:00

4'7“ — L14BB-8F&F—A — 2 B EB — 2 B ZFE—-—14HA-9KBZE
= #e A A - 11 B FHE-—A — 1 B ZH#B - 1 B &F-—8 8B — 11 B &
T o A—3HE B—38#&
B i 13:00 ~ 14:00 13:00 ~ 14:00

5'7“ — LA B = B 3 B A 3 B B3 B
i ¥ (=) (=) (%= (=)
T o A—4E B—48#E
B i 14:00 ~ 15:00 14:00 ~ 15:00

6'7“ — LA - 4 B #E—B — 4 B FHEA — 4 B EFE—B - 4 B F
i ¥ (=) (=) (%= (=)
T o A—S5HE B—5K&

FRF7—L




